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Read carefully the instructions on the back cover of this booklet.

9 el gRaer & fger ararer wR Ry fdwl @l e | ug |

you are directed, open the top seal of Test Booklet, take
out the Answer Sheet and fill in the particulars carefully
with blue / black ball point pen only.

2. The test is of 120 minutes duration and consists of 150

objective type questions. Each question carry 2 marks for
correct answer. Negative Marking : For every two wrong
answer, then marks for one right answer will be deducted

3. Use Black Ball Point Pen only for writing particulars on

this page and marking responses in the Answer Sheet.

4. Make sure that the Test Booklet No. and Series marked

by you on the Answer Sheet is the same as that on this
Booklet.

5. Rough work should be done only in the space provided

in the Test Booklet

6. The answers are to be recorded on the OMR Answer Sheet

only. Mark your responses carefully. No whitener/ eraser
/ Blade is allowed for changing answers.

7. After opening the Test Booklet, please immediately ensure

that no page or question is misprinted, torn or left blank.
If any discrepancy is found in test booklet, show it to
Invigilator and get it replaced with test booklet of same
series.

8. For any question if these is any discrepancy in Hindi or

English language of that particular question the English
version of that question will be considered as final.

9. Details of sections in Question Paper:

Sections |Subject No. of Questions
Sections-1 | Hindi knowledge & Writing Ability | 50
Sections-2 | General Intelligence test 50
Sections-3 | General Knowledge 50

Allowed Time : 120 Minutes Maximum Marks : 300
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e g # sifehd 2|

5. X% (ar) Bl o gReepr & & TE @rell e W) &
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U SR AYEF Sifbd Y| STR dI@d B
B3R /4S /=fs FT AN [ftg 2|

7. W gROST Wield & gRd 91 Sifd XD o o b
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‘AMENDMENT’ & fou sdia f2=<i
A &
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(A) fagamafa

(B) SH<d

(C) gerirard

(D) ¥R

=1 # Afddrar a1 Hfa B 7
(A) STIRAR TS

(B) 3peprt Frardt forem

(C) fasrdy

(D) A= bel

ST HET o' HEMl & odd o
(A) freiere A

(B) d&ER AT ol

(C) W=

(D) WrEM e
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GENERAL INTELLIGENCE TEST / 9= gfg udieror

Q51 Replace the ? in the given figure with a Q51 fF (A) iR (B) & 9 & Hael &l

suitable option from the following figure @R QU Ty oy &1 Sy fAdbed &
by observing the relationship between RIS
figures (A) and (B). > = =]

“—» |||

("] =) = =] -

“—»|e» || 9 A B C D
- =<1k (A (B) (C) (D)

(A) (B) (C) (D)

| = ] = Jjw wmil = ] = |
€9 | € | P | 3P | 6>
(m m Jjm = J) w wi] = wjis = |

| = ) = fjm mi] = J] = |

3 [ €30 | €333 | > | > (1) (2) (3) (4) (5)
(1) (2) (3) (4) (5) (A) 1

(A) 1 (B) 2

(B) 2 () 3

© 3 (D) 5

(D) 5

Q52 1 Sl & d1a T TP BT

T BN |

Q52 Select the figure that is different among

the following figures.

E3 A s I E S S ) B

E C D E
@) A (A) A
B) B (B) B
© © (C) C
D) D (D) D

Q53 7 el @& I ST T—3TelT 3Mhs
BT T PN |

QQJ@(‘Q‘Q G’Q)Q{:}@

A B C D E

Q53 Select the figure that is different among

the following figures.

(A) A
(A) A (B) B
(B) B (C) C
© ¢ (D) E

(D) E
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Q54 Fill in the blank with the correct option Q54 S Bl YR B & forg el fdbeu 4
to complete the series. Raa wI= &1 W |
ALBC,CLDC,  ,GLHC ALBC,CLDC,  ,GLHC
(A) OLPC (A) OLPC
(B) ELFC (B) ELFC
(C) LLMC (C) LLMC
(D) KLLC (D) KLLC

Q55 Fill in the blank with the correct option Q55 S[EE Bl YRT A & folg Hel Aoy o
to complete the series. Rad I & W |
AZA,BWD, CRI, DKP, AZA,BWD, CRI,DKP,
(A) ECX (A) ECX
(B) EYB (B) EYB
(C) EBY (C) EBY
(D) EXC (D) EXC

Q56 Select the option that is related to the third Q56 9 fAdhed &1 Ta9 BN Ol AR U8 A
term in the same way as the second term 3 ST dxE Hafdd © o UdR gav
is related to the first term. UG Ugd Ug W AT T |
MAGIC : BHFZL :: CABIN: MAGIC : BHFZL : : CABIN:
(A) MAHBZ (A) MAHBZ
(B) MHABZ (B) MHABZ
(C) MAHZB (C) MAHZB
(D) MHAZB (D) MHAZB

Q57 Inacertain code language, if pink is called Q57 s R=d are 9w H, afe RIIE] Gal
white, white is called yellow, yellow is IHE HEl ofdl 8, d%ha Pl Ulell dal
called red, red is called green, green is ST 8, Urel @1 o ®8l Sl §, <l
called black, black is called violet and I BT BEI ST 8, B Pl Blell Hal
violet is called orange, then what would ST &, Bl BT S0 HaT offal & 3R
be the colour of human blood? ST BT AR HET ST §, A~ AEG 9
(A) Red 31 B J7 BT BR1?
(B) Green (A) it
(C) Yellow (B) X1
(D) Orange (C) dretm

(D) TR
P-6 11 SET-FG
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Q58 Read the given information and answer

Q58 < TIE TGN Bl L[Ydd Ug AR U=l

the question that follows.

‘P Q’ means ‘P is the mother of Q’;

‘P $ Q’ means ‘P is the husband of Q’;

‘P # Q’ means ‘P is the sister of Q’;

‘P ~ Q’ means ‘P is the son of Q’.

X ~HRD $Y represents what relation of
Y with H?

P IR < |

‘PT QT 31 ‘P, Q & H &

‘P$ QT 31f ‘P, Q BT Uiy &%;

‘P# QT 371 ‘P, Q B 58 ®7;
‘P~Q I 31 P,Q N IF 7.
X~HZIDSYHY &1 H & A 1
e 87

(A) Mother (A) Hf
(B) Father (B) foar
(C) Father-in-law (C) AR
(D) Daughter-in-law (D) sg

Q59 Inajoint family, there are father, mother, Q59 TS HYH URIR # foar w1 = faarfza
3 married sons and one unmarried 93 iR U ffdarzd g 5| gF H T
daughter. Of the sons, two have 2 & a2l g3 g 3R Th b T el 2|
daughters each and one has a son. Find URIR P | o= B Easl YT
the ratio of the total number of female 3R IRIN & 7Y Tl B B G
members to the total number of male EARCGCINESIS] HIFTT |
members in the family: (A) 5:9
(A) 5:9 B) 9:5
B) 9:5 (C) 8:5
©) 8:5 (D) 5:8
(D) 5:8

Q60 Two statements are followed by two Q60 < ®Fl & 9 &l sy fad T €|

conclusions. Assume the facts in the
statements to be true and decide which of

HUAl H QY T FAT BT HE A AR
i of f6 o= @ ey weFl @1

the conclusions follow(s) from the TTARYT FRAT / HRA & |
statements.

D :
Statements: 1. §B IR JKD ¢ |

1. Some papers are books
2. All books are notes.

2. 9 gI& Alcd € |

=py
Conclusions: [ PIE IR TH Al a8l 2|
I.  No paper is a note II. §B AC IR 3 |

II. Some notes are papers

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Both conclusions I and II follow
(D) Neither conclusion I, nor II, follows

12

(A) SId FT=pd 1 STERT HRT 2 |

(B) @adl fsnd I STaRYT &l 2 |

(C) sy 1o 11 Sl JIFART B
2 |

(D) 9 @ frmy 1R 7 & =y 10

STIRIROT R B |

SET-FG
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Q63
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Letters of a word have been jumbled up
and numbered. Choose the option which
gives the correct order of the letters as
indicated by the numbers to form the

word.
I, A, D, Ob H E, N, S
1 2 3 4 5 6 7 8

(A) 3,2,5,6,8,1,4,7
(B) 2,3,5,6,4,8,1,7
©) 2,3,5,6,8,1,4,7
(D) 2,3,5,6,8,4,1,7

How many pairs of letters in the word
‘NIGHTMARE’ have as many letters
between them in the word as in the English
alphabet?

(A) 1

B) 2

©) 3

(D) 5

In the following question, a statement,
followed by two arguments numbered 1
and 2, are given. You have to decide which
of the arguments is/are ‘strong’ with
respect to the statement.

Statement:

To fulfill the energy requirements, India
should make efforts to make use of solar
energy.

Arguments:

I.  Yes, the energy produced in India is
mainly exhaustible.

II. No. To set up solar energy plants, it
will requires a lot of capital, which
India lacks.

(A) Either I or II is strong

(B) Neither I nor II is strong

(C) Only argument I is strong

(D) Only argument II is strong

Q61

Q62

Q63
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U e P 3MeR] bl rgaiRerd fhar ar
2 3R T forg ofp &y I | 59
faed BT g, S e’ b1 T BRA
HH TG BT B |

I, A, D, O, H E,
1 2 3 4 5 6
(A) 3,2,5,6,8,1,4,7
(B) 2,3,5,6,4,8,1,7
(C) 2,3,5,6,8,1,4,7
(D) 2,3,5,6,8,4,1,7

N, S
7 8

‘NIGHTMARE’ 3 ¥ S 31eR| &1 A&
o1d PIT Ra 9 Sad 81 iR ©
R1aw oS avirer § S99 99 2|
(A) 1

(B) 2

© 3

(D) 5

f=forRad 9e9 °, U ®U9 & 91 ql
TP 1 3R 2 fav U €| MusT Ig a
BT BT 6 B & Geg H b A

TP A 2 |

B

Holl B IMITIRARIT DI T’ BT D
forg, TRT BT AR FoIl BT STWIRT IR
BT YA HRAT AT |

b -

I & 9Rd ¥ Sanfad ol ge&id: AfAd
2 |

I 2, AR ol 997 wfid &k &
forg aga &<t goll @1 sragaed]
B, RoTI! R # & 2|

(A) T& 11D 11 9o9d 2

(B) 7 @l IR 71 & Il #olgd 2

(C) daal T [ Aol

(D) ®ad d 11 7olgd &
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Q64 FHfIRIT SIM&RY &I LIFYdd Ug 31R

Q64 Study the following information carefully

and answer the question given below.

A software company has decided to recruit

engineers. The following criteria is to be

applied.

A candidate must:

(1) be an engineering graduate with at
least 75% marks in graduation and

39D A o T U B SN ¢ |

U GUedIR BUT = SON=TaRI T 9l

BT Bl fhar g

faforRea AFds @y fHa T €|

Th STgedt :

() SoONaRT Fae § &9 7 75%
IhT 3R TATAHL H 80% 3ihT &
1T ST BT A1RY |

80% marks in HSC. . :
(i) have work experience of minimum 2 (i1) ?é? Iw 2 7 1 PT d Sl
years.

(ii1) beready to sign a bond of three years.

(iv) not be more than 28 years and not
less than 21 years as on 1.2.2017.

However, if the candidate fulfils all the

above criteria except:

(a) (i), but has obtained 50% in
graduation and 70% in HSC and has
at least three years work experience,
the case may be referred to the
Director.

(b) (iii), but is willing to pay an amount
of X1 lakh if he is required to leave,
the case may be referred to the
President.

(c) (i1), but is a computer engineer, the
case is to be referred to the DGM.

In the question below, details of a

candidate are given. You have to take one

of the courses of action listed in the
options based on the information provided
and the conditions and sub-conditions
given above. The reference date is

1.2.2017. You are NOT to assume

anything other than the information

provided in the question.

Divya is an Mechanical Engineer and has

been working as an Assistant Engineer for

the past one year. She had scored 82%

and 87% marks in graduation and HSC

respectively. She has just completed 25

years of age.

(A) The candidate is to be selected.

(B) The case is to be referred to the

(iii) T 99 & df~s W BEER B ©
foT IR 81 ARy |
(V) 1.2.2017 BT 31g 28 q¥ N A 3IR
21 9§ 9 HH Tl BT AR |
gidifep, afe SHear fa=faRad of
glscm IUad | ATl BT RT Bl
(a) (i), oifddd F1ad 7 50% 3R U=,
AL " 70% 9 BT € IR BH
H HF A9 99 BT BRI W ©, a
39 HHe BT Qe ®f Hefid fhar
ST Hepall 2 |
(b) (iii), Ifpd BN FHAER | U=
BIe W T 1 ARG BT M BT T
PR BT IR 8, AT A& Bl
Tefid fhar < dear 2|
(c) (ii), @b Th HgeR oM B,
AT SILSILTH. ®I Fafid foar S
T 2 |
T feT U g H, SHedR BT faaRor
fer ar 81 Uy ue ) € SHeR)
IR IWRIFT 1 I SI—IAT B IR TR
el # gdidg dRATS § I Udh Bl
grft | ded fedid 1.22017 21 SMUa!
geq H ) TS SHGRI B ATl I
fadl &1 Ae R IR T8 BT B
foar v Hbfdhd SOk & 3R fuoo
U I | U IB8ID SOll-IIR & wy H
BT PR V&l 2 | I FAd 3R TI.09.
A H PEI 82% 3R 87% 3d UK
5 o | 3a onft 25 af @ S ot
=
(A) SHIGIR BT =g fhar ST =nfey
(B) SID AT DI 3Te] & U Woll

President.
i I§ 3
© E?fegiff 15 to be referred o the (C) D AT &I ed & urd wolT

(D) The candidate is not to be selected.
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(D) SHIGIR BT FIF el fhar ST
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Q66

Ashwini has five squares with different
patterns. However one of the squares is

not like the other four. Choose the odd

one.
M @ <G @ G
(A) 1
(B) 2
(C) 4
(D) 5
c"m s Scale : 1 sq. unit = 5%

Resuls in %
EERETEEE L

s 7000

:::::

Observe the above graph which gives the
information of the results of grade X and
XI of a particular school over the years.
In which year did both the grades perform
the best in that school?

(A) 2008-09

(B) 2009-10

(C) 2005-06

(D) 2007-08

15
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R & ur fafe=t de arer Ut avf
g | BTlifeh 3 a1 § & U& 319 AR i
G FAE 2 & | 9 fawH 9 &1 974
PIFTT |

+

5

H

pinS

Mm @ @& @ ©®
(A) 1
(B) 2
©) 4
(D) 5
NES = T m——

=D
N

N
\
\

Resuls in %

syepaIvEassER

N
N

2009-10

SWqd U6 B e xS e
EB Nl & o U fagared & Per X
3R XIa gROTHE! &) SN e 2 |
| ad # SF1 Ferell 7 39 fagarery |
A4S yagie fbar or?

(A) 2008-09

(B) 2009-10

(C) 2005-06

(D) 2007-08
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Q67 Which number would come next in the Q67 r=IfelRad T hH H STel TR B AT

following sequence? gRMT?

12, 33,96, 285,852, 12, 33, 96, 285,852,
(A) 2355 (A) 2355

(B) 2553 (B) 2553

(C) 2535 (C) 2535

(D) 5235 (D) 5235

Q68 Which number would come next in the Q68  FHfIIRIT o Iehd H 3TTll W DI 1

following sequence? gRTT?

4,9,26,105,524, 4,9,26,105,524,
(A) 1345 (A) 1345

(B) 3145 (B) 3145

(C) 1354 (C) 1354

(D) 3154 (D) 3154

Q69 Which term would come next in the Q69 fr=foIRad o Jhd H DI AT Wea T

following sequence? BITT?

B2, F8,J32,N128, B2, F8,J32,N128,
(A) R256 (A) R256

(B) R512 (B) R512

(C) R1024 (C) R1024

(D) R1204 (D) R1204

Q70 Which letter cluster would come next in Q70 f=feiRaa argehd H SFTAl 3R H g

the following sequence? DI AT BAIT?

BAC, CAB, DAE, EAD, BAC, CAB, DAE, EAD,
(A) GAF (A) GAF

(B) FAG (B) FAG

(C) AFG (C) AFG

(D) GFA (D) GFA

P-6 16 SET-FG
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Q71

Q72

Q73

P-6

Study the following alphanumeric
arrangement and answer the question the
follows.
@49*%49%23%$21577935=85
256D185?797262425831624
How many times is the number 2
immediately followed by an odd number?
(A) 2

(B) 3

€ 4

D) 5

Study the following numeric arrangement
and answer the question that follows.
629 812 372 419 294 989 767

If 1 is subtracted from each odd digit and
1 is added to each even digit then which
of the following numbers in the newly
formed sequence will be the second
highest?

(A) 903

(B) 898

(C) 263

(D) 738

If “x” stands for ‘addition’, ‘+’ stands for

‘subtraction’, ‘+’ stands for

b

‘multiplication’ and ‘— ’ stands for
‘division’, then
120+12-3+4x2-2+1=7

(A) 477

(B) 447

(C) 7147

(D) 774
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fFferRad JTew=AR® HH BT s
X R 7 g1 &1 IR T |
@49*%49%23821577935=85
256D185797262425831624
AT 2 & 918 Yo 99 1 fha= IR
3T &7

(A) 2

(B) 3

(©€) 4

D) 5

ffaRea A=Td® HF BT AT I
IR 7 Ul BT IR < |

629 812 372 419 294 989 767

afe 1 UAS fAvA &fd & g 9Idar §
3R 1 IS |H 3% H ST I ® ar
q9 T orgepd ¥ 91 | 9 @I AT
IR GERT STadd gIIT?

(A) 903

(B) 898

(C) 263

(D) 738

afg x* @1 I AT, + BT 3 T,
+ T 31t IO SR~ BT ek W B,
ar

120+12-3+4%x2-2+1="9

(A) 477

(B) 447

(C) 747

(D) 774
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Q74 Which are the two signs to be Q74 fa=faRaa T & 98 9 & forw

interchanged for making the following QT Addl DI GA—daell B gSHI?
equation correct? 5+3%x4-12+2=-1
5+3x4-12+2=-1 (A) + 3R —

(A) +and — (B) + 3R x

(B) +and x (C) x 3R =

(C) xand + (D) + 3R +

(D) +and +

Q75 Arrange the following words as per their Q75 fa=faRaad weal @1 3o eegdrer #

order in an English dictionary. S ® HH D 3R IR PN |
1. Respond 1. Respond

2. Revise 2. Revise

3. Remember 3. Remember

4. Repeat 4. Repeat

5. Repeal 5. Repeal

6. Regret 6. Regret

(A) 6,3,5,4,2, 1 (A) 6,3,5,4,2,1
(B) 6,3,5,4,1,2 (B) 6,3,5,4,1,2
(C) 6,3,5,1,4,2 (C) 6,3,5,1,4,2
(D) 6,3,4,5,1,2 (D) 6,3,4,5,1,2

Q76 Ifinthe word “TURBULENCE”, the first Q76 AfE “TURBULENCE’ ¥ #, Ugell oicx

letter is interchanged with the last letter, 3ifeH TIex & A1 geeAdl B, §ART Wle}
the second letter is interchanged with the Tl o} & 1Y 9eoidl & 3R gIfe,
ninth letter and so on, then which letter a9 Fq AT 3T | ek B & 91€ BiA
would come after the letter B in the newly T oIex J{TTIT?

formed word? (A) L

(A) L (B) U

(B) U (C) R

(C) R D) T

D) T

P-6 18 SET-FG
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Q77

Q78

If in the word ‘“VICTORYPLAN?’, all the
first
alphabetically, and then all the vowels are

consonants  are arranged
arranged alphabetically, which letter will
be the second to the right of the fourth
from the left?

(A) T

(B) R

(G

D) Y

In a certain code language, the following
symbols represent the time in a clock as
follows:

% means either the hour hand or the
minute hand is at 2

+ means either the hour hand or the minute
hand is at 5

? means either the hour hand or the minute
hand is at 3

< means either the hour hand or the minute
hand is at 4

> means either the hour hand or the minute
hand is at 12

~ means either the hour hand or the minute
hand is at 8

Note: If two symbols are given, then by
default, the first symbol is considered the
hour hand and second one is considered
as the minute hand; all times are
considered at PM. For example, <~=4:
40 PM.

Train D that travels at a uniform speed of
10 m/s leaves Agra for Lucknow at %<
and train F travels to Agra from Lucknow
and starts the journey at %-~. Train F
travels one-third faster than train D. At
what time would both the trains meet each
other if the distance between Agra and
Lucknow is 138 km?

(A) <~

(B) +<

(©) <%

(D) +?
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afg ‘“VICTORYPLAN’ 3¥Teg #, 9+
ReRieh T Ugel auiiehd H FaRerd fbar
ST 7, 3R R @) Rl Bl qouiigeha H
IIRerd fHar SITar 8, a1 ®IF |1 B 919
A AT B TR AR AT BEI?

A) T

(B) R

(O

D) Y

e Ff¥Ed qedm |, ffeRed udis
TS H §Hg A1 gl axd €

% T HId © I1 Al ©C Bl g AT A
P 2W B

+ BT 7Ierd & fob 6 @1 gg A1 fAe 3
s SW T

? ST Hdord © b a1 a1 ° DI gg Al
e T gE 3 W 2

< T A9 B AT Al €S BT Jg AT H7e
B g 4R T

> T Hdleld & a7 a1 °S Bl gy AT e
@ PE 12W B

~ BT 7AeAd & fb 6 1 gg A1 e 3
gs S| ©

& < i & e Ry o g,
f$plec ®U ¥, Ugell Udlid & &1 g
HET ST & AR R &l [A7e &1 s
AET ST ©; 99 99T BT PM | AT
ST & | S&IeRT & oy, <~ =4 : 40
PM |
ﬁ?DlOm/sﬂ%WWTF%@W
I B, %< W aAGTS & ol JIRT A
AT Bl & 3R ¢ F olges I IR
T BRAT & 3R A ~% TR Yo el
g1 ¢ F A D3I gar # e fgrs ool
AT HRAT B | 3R JRT 3R RIS &
dra @ g 138 Bl § 1 /Ff ¢ U
TR Y B GHI R AR

(A) <~

(B) +<

(C) <%

(D) +?

SET-FG


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

7

Q79

Q80

Q81

P-6

In a certain code language,

‘bad time to purchase’ is written as ‘hi bo
nj yz’;

‘invest money and efforts’ is written as ‘hi
ta ge mr’;

‘purchase bad stuff only’ is written as ‘yz
bo rd fp’; and

‘only energy and money’ is written as ‘ta
fp mr ux’.

What is the code for ‘invest efforts to
energy’ in the given code language?

(A) hibomr fp

(B) tanjyzrd

(C) tafpuxnj

(D) ux genj hi

In a certain code, LONGER is written as
QDFMNK. How will TIGER be written
as in that code?

(A) QDIHS

(B) QDFHS

(C) QFFJU

(D) QDFIS

Study the given information carefully and
answer the question that follows:

‘M + L’ means ‘L is son of M’

‘M x L’ means ‘L is father of M’

‘L % M’ means ‘L is son-in-law of M’
‘M —L” means ‘L is wife of M’

‘L * M’ means ‘M is brother of

‘L# M’ means ‘M is the only sister of L’
Which two symbols will come in place of
the question marks in the following
equation to show that E is the wife of X?
X%P-C?D?E

(A) xand +

(B) +and -

(C) +and #

(D) Either x and + or + and #

20
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v AR qewmr #,

‘bad time to purchase’ @ ‘hibonjyz’ &
wU H foRar ST g

‘invest money and efforts’ &7 ‘hi ta ge
mr’® ®Y § forar S %\;

‘purchase bad stuff only’ ®T ‘yz bo rd fp’
& wU H forar SIar ; &R

‘only energy and money’ T ‘ta fp mr ux’®
w9 ¥ forar mar 2|

fou U P 9T H ‘invest efforts to
energy’ @ foTg @IS @1 27

(A) hibomr fp

(B) tanjyzrd

(C) tafpuxnj

(D) ux genj hi

vh R¥=d ®Is d, LONGER &1
QDFMNK & %9 # forar Siem 21 59
@€ H TIGER &1 &4 forar Soem?
(A) QDIHS

(B) QDFHS

(C) QFFJU

(D) QDFIS

&1 T SFDRI BT LTYdD eI DY
IR =1 et BT SR < |
‘M+L &7 31f 8 ‘L, M’ PT 9T &
‘M x L"&T 31 § ‘L, M’ &1 fiar &
‘L% M’ T 31 & ‘L, M&T TS &
‘M—-L &1 3 L, M* &l gl B
‘L*M BT 31 & ‘M, L HT 4TS &
‘L#M BT 31 8 ‘M, L’ BT Uhalkil g8
g
frforRad TfiaRor # uee feresdl @ e
WR DI H T YA MU I8 o™ &
fore f& E, X @1 ueh 87
X%P-C?D?E
(A) x 3R+
(B) + 3R —
(C) +3iR#
(D) 3T @ x 3R + AT + 3R #
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Q82 Study the given information carefully and Q82 A TE TGN B AYdD IFETAT BN

answer the question that follows.

When Mandira Singh tops in her MBBS
course, she becomes the 7th member of
her family to join the Medical profession.
All other family members, namely Tanmay,
Neerja, Monnish, Sanchit, Ruchika and
Vinita, are working at Sawai Man Singh
Hospital as doctors, and Mandira Singh,
who is the youngest of the third
generation, is all set to join them. In this
family of three generations, there are two
pairs of couples and two pairs of brothers
and sisters. There are three Oncologists,
two Dentists, one Physician and one
Neurologist in the family. No female in
the family is an Oncologist. Vinitais nota
Neurologist. No married person in the
family is a Dentist. Tanmay is the son of
Neerja, while Sanchit is the son of
Monnish, whose wife is Vinita. Monnish
is an Oncologist. Monnish and Vinita are

the eldest couple in the family. Mandira

3R = Tt & SR § |

9 Afewr RHE o vHdEITE B H
cfg fama, 1 98 Afedwe U9 # wfte B
el 3 GRAR @1 741 FEI 9 Sl
g | 3 ) URAR & HEw, 31T a9,
ars 79 g 3Rudiel ¥ Sidex & w9 H
IR F| e PRIl & 39 aRaR #, <
el SISl 3R Wigdl 3R 9l & a
S 21 aRaR # I sifreifone, <
Id fufecasd, e fafdcas iR e
FRfas (RRIAfRRe) €1 aRaRr #
IS AR Ueh SMhIctione &l & | fasfar
RIoRE el & | aRaR § ®1g faared
Ffdd U6 <d fafecas T8 g1 a9
ARG @1 Y3 &, STafs Fabld AT Bl
o B, R gt fadfiar 2| A v
sifvpraifore 2 | A iR farar uRar
¥ 99 g3 B | Afewr Rig |Ra o 98
&, STafh BfIDHT ARSI B 79/ SIoT

Singh is the daughter of Sanchit, while / ™I B |

Ruchika is the sister-in-law of Neerja. fa=forRad 5 9 &4 e Rfdcas 27
Who among the following is a Physician? (A) HfexT Rig

(A) Mandira Singh (B) ARSI

(B) Neerja (C) fafrar

(C) Vinita (D) Bferer

(D) Ruchika
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Study the given information carefully and

answer the question that follows.

In the Kasam family of three generations,

there are eight members — A, B, C, D, E,

F, G and H. C is G’s daughter-in-law. E is

B’s only grandchild. D is one of E’s two

maternal uncles. G and D, one of whom

1s male, are the children of B. F is the father

of D. H is G’s husband.

Which of'the following statements is true?

(A) There are two males in the second
generation.

(B) Ais the sister-in-law of H.

(C) There are equal number of males and
females in the family.

(D) C is the granddaughter-in-law of F.

The words in the given word-pair share a
certain relationship. Select the option in
which the word-pair share the same
relationship.

Rat : Rodent

(A) Bee : Apiary

(B) Sailor : Ship

(C) Whale : Mammal

(D) Nomads : Horde
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& g TSR BT YD eI DY
3R =T Ul & IR § |
A Qifeal & HH9 IRaR H, 16 Fa
§ —A,B,C,D,E,F,GR HIC,G I
g€ 2| E,BHT UHA Uil 8| D,E® &l
41 H W T 21 G 3R D RH 4
Y 5, B® 9= &, F,D & fudr, H, G
@ ufd |
FefaRed 5 4 9 91 FAF |9 27
(A) T8 A H a1 g2 2|
(B) A, H®! 998 /SIS /¥4I & |
(C) URAR H goul IR AlZATAT B T
AT 2 |
(D) C,F& Urd @I gl /AT BT g
=

feu Ty wea—g™ ¥ v ue RReEd

A& AIST BRd © | S by BT =g
B oA Sea—SIE] T &1 R T wreh
HA B |

IEl : HAD

(A) HHaRAl : ARSI

(B) Aifde : Tl STgTsl

(C) = : axa wrof

(D) §oIRT : ARIE
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P-6

Consider the given statements to be true

even if they seem to be at variance with
commonly known facts and decide which
of the given conclusions logically

follow(s) from the statements.

Statements:

1. Some rats are white.
2. Some white are pigs.
3. Allpigs are blue.

4. No pigis a donkey.
5. All donkeys are tall.

Conclusion:

1. Some tall are not pigs.

1.  Some rats are pigs.

iii.  All blue being donkeys is a possibility.
(A) Onlyifollows.

(B) Onlyiand ii follow.

(C) Onlyiiand iii follow.

(D) Onlyii follows.

The production of Sugarcane by six states
in India in the year 2016 is given in the

following graph.

25000

22500
20000
15000

20000
15500
I 1txm
0-

10000
5000 |
MP

Which of the following states contributes
less than 20 per cent to the total

Sugarcane production?
(A) OnlyGJ

(B) GJand AP

(C) GJ,APand TN

(D) GJ, MH, AP and MP
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T T g R f=R &, 9o € 9 3|
TR W S7d dei & A1 fA=ia # 87 3iR
g of & fag U frepel § 9 319 |
frpy TeHdTd U F HAUH BT UTed
IR B |

DU
1. $B I 99¢ T |

2. %Y Tha WK T |

3. O R Ao ¥

4. PIS YIR T LT B |

5 4 T o9 B

ey -

i. BB A PR T 2|

ii. B IR WK T

i, |1 el T BM BT HAE © |

(A) DI i 8 Tl el ¢ |
(B) a1 i3IR ii UTe™ &xaT § |
(C) DI ii 3R iii Ul BT B |

(D) I ii Yo BT & |

Y 2016 H HRA H BT I GART T+
&1 Iaureq frefoRad e | faar
g

25000

22500
20000
Pa— 15500
10000 - 10000
m I
o-
(] MP
fa=forRaa =1 e # fA=forfRaa &

A B A I 20 gfaea W At BH
ANTETE <l 27

(A) DI GJ

(B) GJ3IRAP

(C) GJ,AP3IRTN

(D) GJ, MH, AP 3iR MP

SET-FG


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

Q87 The following line graph depicts the Q87 f=faRaa dfda I 1994 & 2000 T& 7

P-6

percentage of the number of candidates
who qualified CAT examination out of the
total number of candidates who appeared
for the examination from Mithun
Institution over a period of 7 years from

1994 to 2000.

Percentag:
o5 888883838

If the number of candidates who qualified

AT DI @S # A SREITIIA | g
% foly IuRerd SHIIGARI & qof F=T
I AUl (CAT) TRe S0 &R aTel

SHICIRT B GT BT ufqerd el 2 |

Percentage
o5888883838

1994 1995 1996 1997 1998 1999 2000

Years

afg 1998 H BT UK (FETfABIZS)

IRGaRT &1 AT 21200 off, A 1998 #

SURed SHICARI Bl T&=T T 2017

in 1998 was 21200, what was the number (A) 32000
of candidates who appeared in (B) 28500
19987 (C) 26500
(A) 32000 (D) 25000
(B) 28500
(C) 26500
(D) 25000
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Q88 Exports from three companies
(X, Y and Z) over the years (in ¥ crores)
are given the following line graph. Study

the graph and answer the question that

follows.

represents Company X — —=— —
represents Company Y .-

represents Company Z —e—

For which of the following pairs of years

was the total exports from the three

companies combined equal?

(A) 1995 and 1998

(B) 1996 and 1998

(C) 1997 and 1998

(D) 1995 and 1996
Q89 Read the given question and decide which
of the following statements is/are

sufficient to answer the question.

Question:

What is Rohan’s rank in the class?

Statements:

I.  Rohan’srankis 24 less than Nandan’s
rank.

II. Archana’s rank is 38 more than
Rohan’s rank; Nandan’s rank is 10
less than Archana’s rank.

(A) Statement I alone is sufficient.

(B) Statement II alone is sufficient.

(C) Either statement I or II is sufficient.

(D) Both statements I and II together are

not sufficient.

P-6

QS8

Q89

GET IT ON
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el 7o a9t # (FRre BT #H) H =
HUFT (T, a7 3R ofs) & | &
faforRad <irg= oo faw v &1 U
BT I BN 3R 44 Je &7 SR < |

Amount n Rs. Crores

c¥t3gilES

fArforRad % 1 =T ATt 7 T Hafrar
TART ol R BT oI UHHH oAT?
(A) 1995 3R 1998

(B) 1996 3R 1998

(C) 1997 3R 1998

(D) 1995 3R 1996

fay Tyl @1 ug iR iy of &
f=foRad 5 9 ®IF A1 BUF 9T BT
IR e & oI I B

I :
PeTT H e Bl Vb T 27

DA :

[. 9 PTG da9 & 3P A 24 BA
2l

II. 8T & b q AT BT VP 38 3R
NfH &; G BT B AT B ¥b |
10 BH B |

(A) Bad B [ T B |

(B) ®ad & 1l T 2 |

(C) a1 a1 HUF 137 [ 9T & |

(D) ®I9 [3R I QM1 F8) J8l ¢ |
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Q90 Read the given question and decide which Q90 fiU U yw=i @ ug iR fviw of &

P-6

of the following statements is/are

sufficient to answer the question.

Question:

Mittal has a building in Ayyappa Society,
Madhapur, which has five floors named
from no. 1 to 5 in such a way that
lowermost floor is numbered as 1 and the
topmost floor is numbered as 5. Five
members live at different floors of the
building, namely Rama, Lina, Tina, Charu
and Anita, but not necessarily in the same
order. Also, these five work in different
companies, namely A, B, C, D and E. Tina
stays on floor no. 2 and works in company
D, and Charu stays on floor no. 5. Also,
the one who stays on floor no. 1 works in
company A. Then, who lives on floor no.
3 and in which company does she/he
work?

Statements:

I.  Neither Lina nor Anita works in
company A.

II. One who lives on floor no. 3 works
in company C.

III. Anita does not work in company C.

(A) Statement I and II together are
sufficient.

(B) Any two statements together are
sufficient.

(C) Either statement I and II together or
statement II and III together are
sufficient.

(D) All the statements, I, II and I1I

together, are sufficient.
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Read the given question and decide which
of the following statements is/are

sufficient to answer the question.

Question:

There are five Oil Refining companies in
India, namely A, B, C, D and E.
Production of which of these companies

is the highest?

Statements:

I.  Production of Company B is more
than that of Company A but not more
than that of Company E.

II. Production of Company C is more
than that of Company B but not as
much as that of Company D.

III. Production of Company E is not as
much as that of Company D.

(A) Statements I and II together are

sufficient.

(B) Any two statements together are
sufficient.

(C) Either statements I and II together
or statement III alone is sufficient.

(D) All the statements, I, II and III

together, are sufficient.
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Q92 Read the given statement and the

following assumptions and decide which
of the assumptions is implicit in the
statement.

Statement:

The government decided to pay a
compensation of < 5 lakhs to the family
members of those who were killed in the
boat accident in the Godavari at
Pasuvullanka.

Assumptions:

I.  Government treasury has enough
funds to fulfil the compensation
expenses.

II. The government can try to bring

down the incidents of boat accidents

in the future in that area.
(A) Only assumption I is implicit.
(B) Only assumption Il is implicit.
(C) Either assumption I or Il is implicit.
(D) Neither assumption I nor II is
implicit.

Q93 Consider the given statement to be true

and decide which of the conclusions

logically follows from the statement.

Statement:

Use ‘Calvin Klein’ jeans. Nothing comes
between me and my Calvins. — An
advertisement.

Conclusions:

I.  Catchy slogans do not attract people.
IT. People like dark shades of jeans.
(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) Either conclusion I or II follows.

(D) Neither conclusion I nor II follows.
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Q94 Read the given question and decide which

Q95

of the following arguments is/are strong.

Statement:

Should officers of nationalised banks be

transferred after 1 or 2 years?

Arguments:

I.  Yes. They get friendly with local
people and are manipulated by them.

II. No. By the time their policies and
schemes start taking shape, they have
to leave.

III. No. This will create a lot of
administrative hassles and cause a lot
of inconvenience to the officers.

(A) Only argument I is strong.

(B) Only argument II is strong.

(C) Only arguments II and III are strong.

(D) Only arguments I and III are strong.

Read the given question and decide which
of the following arguments is/are strong.

Statement:

Should all the indirect taxes in India be

combined into a single Goods and Services

Tax (GST)?

Arguments:

I.  Yes. This will considerably simplify
the tax collection mechanism and the
cost of collecting tax will also reduce.

II. Yes. The manufacturers and traders
will be benefited by this, which in turn
will boost tax collection.

ITII. No. No other country has adopted
such a system.

(A) Only argument I is strong.

(B) Only argument II is strong.

(C) Only arguments I and II are strong.

(D) Only argument III is strong.

Q94
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Q96 Read the given information carefully and

P-6

answer the question that follows.

ABC Society has kept the following

conditions for the allotment of flats in their

society. The applicant:

(1) Must produce domicile certificate of
the State

(i) Must be earning for minimum of 5
years

(ii1) Must be ready to pay the entire
amount in 5 years’ period

(iv) Must not be the owner or co-owner
(if spouse is owner) of another
residential accommodation in that
city

(v) Mustnotbe less than 35 years of age
as on 31st December 2016

In case of an applicant who satisfies all

other criteria except:

A) (i) above, should be referred to the

President of Town Council

(i1) above, but is ready to provide

Aadhar card, should be referred to

the Vice-Chairman of the Committee

(ii1) above, but is a freedom fighter

or an ex-serviceman or a first relation

of them, should be referred to a

member of the Committee

The last date for receipt of application was

31st December 2016. Conditions are to

be fulfilled as on 31st December 2016.

Based on these criteria, decide whether

to allot flat or not in the following case,

given to you as on 1st January 2017.

Shami is planning to purchase a flat in

ABC Society. He is the son of an

industrialist and from another state who

has set his factory in 2000 and has a

domicile certificate of the state. He is

ready to pay the entire amount in 4 years

if required. He does not own a house in

that city but his wife owns a flat there.

His date of birth is 11th November 1970.

(A) Do not allot flat.

(B) Refer to the Chairman.

(C) Refer to the President.

(D) Allot flat.

B)

0)
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Q97 The given figure is embedded in one of Q97 <1 TS Pl = fadedi H A U H
the following options. Select that option: TRSE 2| 39 fadhed &1 9 Y |

[~ ™~

(A) (A)

(B) (B)

(©) ©) = \
o K] =

Q98 The given figure (x) has some specific Q98 faT 7Y 31w (x) # 7B fafre udis 7 |

symbols. Choose the option in which the CERCETS ﬂﬁf S+ v & Ui uiy
same symbols are found: S B |
@A @A
g 57y
(x) (%)
T A T A
(A) E':’@ (A) ‘f@
< <
2V, 2%,
(B) i+ 4! (B) o 4!
=& 2
© |pv® © |pv®
&S &L
® |A%% O |A%%
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Q99 Kapil and Dharma are playing with two
dice in a club and they have rolled them
on the floor as given in the following
figure. If x represents the number of dots
on the faces opposite to that containing

four dots, then find the value of x:

DO

(A) 2
(B) 3
(€) 6
(D) 1

Q100 Replace the ? in the given figure with a
suitable option from the following figure

by observing the relationship between

figures (A) and (B).
- Rl |
s 2 ?
¥ & ¢
A B [« D

VA | laka|Ladl] [ Ladld
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(A) 2

(B) 3

(C) 6

(D) 1
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- ¢l |
: E |2
A B c D
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GENERAL KNOWLEDGE / 9= SH®RI

Q101 When is World Tiger Day celebrated?

(A) 21 April
(B) 23 May
(C) 18 June
(D) 29 July

Q102 Where was India’s first Global Mobility

Summit held?

(A) New Delhi
(B) Pune

(C) Lucknow
(D) Mumbai

Q103 Which among the following governments

launched the Suryashakti Kisan Yojana?
(A) Madhya Pradesh

(B) Maharashtra

(C) Guyjarat

(D) Odisha

Q104 The 7-Star Gram Panchayat Rainbow

Scheme launched by the Government of
Haryana to give star rankings to its
panchayats is based on how many social
parameters?

(A) 9

(B) 7

© 5

(D) 3

33

Q101 fazg 919 fAad (des SR ) Hd FFET
STTaT 87
(A) 21 3 Bl
(B) 23 Aig @I
(C) 18 A &I
(D) 29 TelTg I

Q102 YRd &1 Ul dR¥asd wireiedr RraR
THAT  (Tellge Arfaferdl afie) wsi
AT e T ofr?

(A) T8 feeed
(B) g
(C) g

(D) s

Q103 fr=forRad WReRI 7 | b 7 erfad
A AT &1 URY fdhar 87
(A) 7 geT
(B) WeRTSS

(C) IR
(D) snfsem

Q104 BRIV WRHR TART 3G Y=TIAl Pl
R ST < & o g% ol 78 7-RIaRT
T UARIT SSEY IS fobe AMHTSTen
HTHT TR SR &7
(A) 9
(B) 7
©) 5
(D) 3
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Q105 The Telangana Police has launched
mobile application to support the
professional communication and
collaboration needs of the entire police
department of the state.
(A) People Connect
(B) Crime Connect

(C) Law Connect

(D) COP Connect

Q106 Which among the following has recently
been declared as the state fruit of Tripura?
(A) Queen Pineapple
(B) King Orange
(C) Prince Mango

(D) Queen Litchi

Q107 What is the full form of NABARD?

(A) National Agricultural Bank for Agro
and Rural Development

(B) National Bank for Agriculture and
Rural Development

(C) National Bank for Asset and Rural
Development

(D) New Bank for Agriculture and Rural

Development
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Q105 T Yferd =1 19 & IR gferd faamT
P ATTATRIG AR AR TSI &I SRR
BT JHIT B b forw ATS

vftetde i fhar 21
(A) dod deae

(B) hIgH Hridc

(C) @f Prae

(D) AN, HIde

Q106 BTt & H f=ifeiRad & 9 foaeT RgRr
HT IoTh BifNd fHar T 87
(A) &9 FFH
(B) b 3RS
(C) i amH
(D) F&I= fordl

Q107 e (NABARD) &7 faw]d ®U a1 &7

(A) IS TR 9% BR T U
¥R SaTIHE

(B) ¥ §F BR THidedr Us WXd
STATHE

(C) M d6 BR T TS WX
STATIC

(D) = & ®BR TidedR TS I
SaATHE
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Q108 Which among the following nations is the Q108 f=ferRad <o & | ®I9 4T gfvrar 1

largest tractor market in the world?

I g9 ¢de} gIofR 87

(A) Brazil (A) FIRST
(B) USA (B) RIS
(C) Russia (C) w9
(D) India (D) ¥d
Q109 The 13th edition of ‘Annapoorna — World Q109 27—29 fAdeR 2018 & SR ‘A=Y —

Q110

of Food India’ is scheduled to be

ges 3l FS AT & 130 HWHRIT BT

organised during 27-29 September 2018 IS i eER H v SR
in: (A) gaE

(A) Mumbai (B) faeeh

(B) Delhi (C) Hraret

(C) Bhopal (D) UesT

(D) Patna

Which of the following nations was the

world’s largest producer of milk in

Q110

2017—18 & aRM f=faRad & I &

AT <9 AT BT FIH IS8T §Y IAED

2017-18? oT?
(A) Germany (A) STHY

(B) India (B) WRa

(C) Australia (C) sifzsferam
(D) South Africa (D) <feyor 3hiehT
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Q111 Which of the following is an example of a Q111 F=faRad # & 39 Td UEHI TR

Primary Storage Device?

fearsst 87

(A) Hard Disk (A) TS 3%
(B) Random Access Memory (B) YSH TR HARN
(C) Magnetic Tape (C) #Hfed <u
(D) Optical Disc (D) 3iifcrd fe&h
Q112 Which of the following is a Programming Q112 941 % & ®9 & YR vk 87
Software? (A) [$FF Tl
(A) Disk Cleanup (B) fasrat
(B) Windows (C) & SHIHR
(C) Disk Defragmenter (D) ﬁ?jeﬂ?r CIRED
(D) Visual Basic
Q113 In terms of computers, the set of ways in Q113 PR % el H R W ¥ s

which an adversary can enter a system and
can potentially cause damage is called:
(A) Attack Surface

(B) Attack Signature

(C) Attack Pattern

(D) Attack Path

Q114 The use of mathematical techniques to
provide security services, such as

confidentiality, data integrity, entity

Q114

faRrel Reed & gd9r &) Iopar g 3R
TfadT w9 I &If BT BRI g9 HAhdT &
S T Hed 27

(A) BHT Id8 /3ch AXDY

(B) BHEI BXIER /3ch R=er

(C) eIl UeH /e UeH
(D) BT U /I[P TrT

GREAT ATl ST YR, ST 3RISl,
TH1S TANIHRT 3R SeT ot THTiiavoT
Ue™ B @ forq TR daiia &

authentication and data origin ST T BT ST 82
authentication, is called: (A) frerash

(A) Cryptology (B) foherme!

(B) Cryptography (C) Toheruhe UetTiREH
(C) Cryptographic Algorithm (D) frevrfaRm

(D) Cryptanalysis

36

SET-FG


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q115 What is the percentage of land used for QI15 IR U¥ ¥ Y & fory wgaa 1 &1

agriculture in Uttar Pradesh? gfererd @ 87
(A) 56.7 (A) 56.7
(B) 60.7 (B) 60.7
(C) 64.7 (C) 64.7
(D) 68.7 (D) 68.7

Q116 Which is the shortest Kaanda (chapter) of Q116 IMARFTHMH BT B AT HIVS (M)

Ramcharitmanas? |IH BICT 57

(A) Aranya Kaanda (A) IRTY PpIvg
(B) Kishkindha Kaanda (B) foitmem wvs
(C) Sundar Kaanda (C) g<X PIvs
(D) Lanka Kaanda (D) ol BIvS

Q117 What is the rank of Uttar Pradesh among Q117 3] @ AT H AR § IR T Bl

Indian states in terms of the quantity of A AT 27?7
potato production? (A) Ugell
(A) First (B) a1
(B) Second (C) TRT
(C) Third (D) drerr
(D) Fourth

Q118 In which district of Uttar Pradesh is the Q118 SR Ue¥ & fhd St # fHBIsT 1R

Kichhauchha Dargah Sharif located? IR Rerd 27
(A) Sant Kabir Nagar (A) Hd BIR TR
(B) Mirzapur (B) fiigR

(C) Ambedkar Nagar (C) TESdH TR
(D) Sultanpur (D) gea TR
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Q119 With which musical instrument is the Q119 et T, o &7 = ffalRaa #

noted musician Mrs. N. Rajam associated? W | U argy 99 9 2°
(A) Sitar (A) AR

(B) Violin (B) arafer

(C) Tanpura (C) qFYRT

(D) Flute (D) 9rgd

Q120 In which year is the next Ardh Kumbh Q120 gormerEre # fd ay 3Tl ared B DT

Mela scheduled to be held in Allahabad? AT T ST 27
(A) 2019 (A) 2019
(B) 2020 (B) 2020
(€) 2021 (C) 2021
(D) 2022 (D) 2022

Q121 On which occasion are the Sohar folk Q121 fA=ferRad & I P R W AR

songs sung? AT BT T fhar Srar &7
(A) Childbirth (A) T B ST TR

(B) Namakarana (giving a name) (B) THIhROT

(C) Mundan (cutting of hair) (C) g

(D) Marriage (D) faarg

Q122 Which of the following places is famous Q122 &GAR Bl & forg /1 & &4 @9 <1

for Lathmar Holi? @I ufig 87
(A) Vrindavan (A) g=Ta+
(B) Govardhan (B) TMae=
(C) Barsana (C) I
(D) Gokul (D) e
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Q123 Who is the author of ‘Mitti Ki Baarat’, a Q123 “fg! @ IR’ AME BHiddr AU B

collection of poems?

(A) Jaishankar Prasad

(B) Shivmangal Singh Suman
(C) Mahadevi Verma

(D) Maithilisharan Gupt

Q124 In which of the following cities is the

RID B B?

(A) SR UATS
(B) Rrawar R gaa
(C) werdl a4t

(D) #ferefrerRor TaT

Q124 fr=forRaT # ¥ ¥ wrex H Agd BefdR

Central Footwear Training Institute ??f%PT E{%E'q\?: Rerg 87
located? (A) PR

(A) Kanpur (B) <@g

(B) Lucknow (C) TIRT

(C) Agra (D) =fger

(D) Noida

Q125 Which district of Uttar Pradesh has the

Q125 2011 & SHIVAT & ATAR IR U<

highest population as per Census 2011? & T fSTel @ STa@r |aifes 87
(A) Allahabad (A) SclleTdiq

(B) Agra (B) M1

(C) Moradabad (C) ARTETETE

(D) Ghaziabad (D) TTATETS

Q126 What was the land donated to Jaina

institutions called as per Chola

Q126 AT W & AR ST FRIT Bl

U B A 1 e 1< M o 22| G i

inscriptions? ST or?

(A) Vellanvagai (A) ded=ITTS
(B) Shalabhoga (B) SITATAITT
(C) Pallichchhandam (C) Uccilzer<H
(D) Brahmadeya (D) sEAAT
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Q127 Which ruler founded the Tughlaq dynasty Q127 fha od® F WIRA H TTd 9 Bl A

in India? TGT 2r?

(A) Firuz Shah Tughlaq (A) ORI w8 D
(B) Ghiyas-ud-din Tughlaq (B) A€ Tl
(C) Alauddin Sikander Shah (C) s Rihex 98
(D) Muhammad bin Tughlaq (D) gg=ie 491 Tt

Q128 Which of the following kings died as a QI28 1 # & fvd wA® qg D

result of falling down from the stairs of QIBTC B Hfedl | fRax gg ofi?
his library? (A) STERR

(A) Jahangir (B) zImESTRl

(B) Shah Jahan (C) 91}

(C) Babur (D) g9

(D) Humayun

Q129 Which Mughal emperor got the famous Q129 fIvauRrg AR Rigras &1 (AT 3R 3@

‘Peacock Throne’ built and placed in the AT foel | ermar e | 9 fo g
Lal Qila in Delhi? IMH T Py Ar?

(A) Shah Jahan (A) TETEl

(B) Jahangir (B) SERIR

(C) Akbar (C) PR

(D) Bahadur Shah I (D) 9EIgReE 1

Q130 Why is Bodh Gaya an important Buddhist Q130 9T AT U HEdYUl dlg il b -l

pilgrimage centre? 2?
(A) Because Gautam Buddha was born (A) Riifd Trad g sl et gJ o
here (B) ®ifd 7Iad g 7 I8 14 U<
(B) Because Gautam Buddha attained o e
enlightenment here (C) FifF ad 9 = S UT HRA D
(C) Because Gautam Buddha preached 91 IEl YT Ugell Uy faar o
his first sermon here after attaining (D) FifF TiaH 9& = ggl fafor o
enlightenment 2T o

(D) Because Gautam Buddha attained

parinirvana here
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Q131

Which of the following sessions of Indian
National Congress was presided over by
Mahatma Gandhi?

(A) 1922; Gaya

(B) 1923; Delhi

(C) 1924; Belgaum

(D) 1925; Kanpur

Q132 Which prime minister of Great Britain had

Q133

Q134

announced the Communal Award in 1932
during the Indian Freedom Movement?
(A) Stanley Baldwin

(B) Neville Chamberlain

(C) Sir Winston Churchill

(D) James Ramsay MacDonald

In which city did freedom fighter Chandra
Shekhar Azad shoot himself on being
besieged by the British Police?

(A) Bhopal

(B) Allahabad

(C) Kanpur

(D) Jabalpur

Which of the following rivers ends in the
Arabian Sea?

(A) Narmada

(B) Godavari

(C) Krishna

(D) Kaveri
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Q131 HETH TR 7 R I B &
frferRaa =it # & foqa sremerar &1
of1?

(A) 1922; 1

(B) 1923; faeelt
(C) 1924; ST
(D) 1925; HHYR

Q132 ¥R ad=ar 3Nl & R 1932 |
Ue o & &9 g #4301 -1 |iueriie
QRIBR ] =0T B oAT?

(A) Al gresiae
(B) Afde aFaRed
(C) IR fdwes afda

(D) = MY HbhsHogd

Q133 1 # & b eeR # ad=ar {EEl
TSERIER STGE 7 fafeer gier garT fir
S W & DI el AR ol fi?
(A) ¥
(B) SelErdi
(C) IR
(D) SqaRR

Q134 f=forRad & & fvg € &1 A
3RY AFR # &7
(A) "THeT
(B) TeTaRI
(C) Pwm
(D) BTRI
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Q135 In which state is the Bhadra Wildlife

Sanctuary situated?
(A) Kerala

(B) Madhya Pradesh
(C) Karnataka

(D) Uttar Pradesh

Q136 Which of the following states has the

lowest density of population in India?
(A) Mizoram

(B) Sikkim

(C) Nagaland

(D) Arunachal Pradesh

Q137 In which country does Danube river

originate?

(A) Hungary
(B) Germany
(C) Romania

(D) Austria

Q138 Which is the largest continent in terms of

area?

(A) North America
(B) South America
(C) Asia

(D) Africa
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Q135 W&T g=Ioig IR fasd vsa # Rera

77

(A) R

(B) &I U<
(C) Prile®
(D) STR U

Q136 f=feriRad & & fd =g & 9Ra #

ST &l O+Tcd Aa & 87

(A) fasiA
(B) RifdeH
(C) =Tt

(D) IS TS

Q137 SR AT &1 I b <o 7 =7

(A) T
(B) ST
(C) rArfear
(D) ffegza

Q138 &5hel & IR R FIH g1 HeIGAIY

ot & B a7 2°
(A) SR 3MR®T
(B) <feror smRapr
(C) TfRrm

(D) ST
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Q139 On which river is the Chamera Dam built?

(A) Sutlej
(B) Ravi
(C) Beas

(D) Chenab

Q140 In which country is Galeras Volcano

located?

(A) Colombia
(B) Mexico
(C) Italy

(D) Hawaii

Q141 In which state is the Thoseghar Waterfall

located?

(A) Maharashtra
(B) Karnataka

(C) Odisha

(D) Madhya Pradesh

Q142 What is the approximate percentage of the

total human population that lives in the
Northern Hemisphere?

(A) 60

(B) 70

(C) 80

(D) 90
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Q139 TR 9 fhd < TR 99T TAT 7Y

(A) |adst
(B) fa

(C) fours
(D) fmma

Q140 ey SaTarE! fohd <o # Rerd g7

(A) Brerraar
(B) AfdRapy
(C) el
(D) &ar$

Q141 oNTER drexhid fbd og § Rera 87

(A) HERTSE
(B) Plcd
(C) snfeem
(D) &I g

Q142 Tl & Il e H @ drell g
AT AEIGT BT ST Ffcrerd & 27?

(A) 60
(B) 70
(C) 80
(D) 90
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Q143 RamNathKovindisthe  President QI43 MM AT PIfdE IRA S Igufd
of India. g |
(A) 16° (A) 164
(B) 14t (B) 144
(C) 120 (C) 12d
(D) 11" (D) 11d

Q144 According to Article 243-1 of the Q144 9RT & AT & s 243-1 b AR

Constitution of India, a Finance Tyl @ foci Rafy &1 aden &
Commission is constituted to review the forg fa SmanT &1 767 &d fhar rar
financial position of the Panchayats: 2?
(A) at the expiration of every sixth year (A) B TS 99 P! AT TR
(B) at the expiration of every fifth year (B) & UiEd a9 &1 FAIG W
(C) atthe expiration of every second year (C) & TN ¥ I |G R
(D) at the expiration of every third year (D) & TR a4 &) FHEIE TR
Q145 Accordingto  of the Constitution Q45 9Rd & WM & & IAR
of India, the President has the power to IEAfT & URT SRATSY SIRI B Bl
promulgate Ordinances. NICSI
(A) Article 123 (A) 3T 123
(B) Article 121 (B) arfwuq 121
(C) Article 125 (C) =87 125
(D) Article 127 (D) 3 =8T 127
Q146 The total number of nominated members Q146 ISTFHT H FAMIT AET B ol AT
in the Rajya Sabha is: T 2?
(A) 17 (A) 17
(B) 19 B) 19
©) 15 (©€) 15
(D) 12 D) 12
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Q147 has the power to prorogue the Q147 B AU 9T BT TIGTEH B
Legislative Assembly. o ufdd 8l 2
(A) The Governor (A) rsguTet
(B) The Prime Minister (B) ULTTHAT
(C) The Vice-President (C) SWRISEUfeY
(D) The Chief Minister (D) g9

Q148 Where has the first Mobile Open Q148 YH HIGTSA 3NUA UdAdSl SIF &l

Exchange zone been inaugurated? IqgTed del fhar T 87
(A) Ahmedabad (A) ITEHASTETE

(B) Gurgaon (B) Tsiifd

(C) Chandigarh (C) =SS

(D) Noida (D) ArgsT

Q149 What was the rank occupied by India in Q149 2018 & TS BN UH. SIS, Bifped

the 2018 AT Kearney FDI Confidence SSRT ¥ YRT BT WIH T 2AT?
Index? (A) 2541

(A) 25" (B) 1laf

(B) 1* (C) 36ai

(©) 36" (D) 744t

(D) 74h

Q150 The Union Cabinet has approved the Q150 ¥ #f3Fed 1 a3 T a1

extension of the scheme of recapitalisation (QMR.3MRAN) B gqli\yﬂq)\{w P AT Bl
of Regional Rural Banks (RRBs) up to % R @ we T T
- . (A) 2020

(A) 2020 (B) 2022

(B) 2022 (C) 2025

(C) 2025 (D) 2030

(D) 2030
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Read the following Instructions carefully :

frrfaRea fA<el @ &aF 9 U

1.

10.

11.

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not

liable to be changed

. The candidates should ensure that the Answer Sheet

is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere

else except in the specified space in the Answer Sheet.

. Handle the Test Booklet and Answer Sheet with care,

as under no circumstances (except for discrepancy

in Test Booklet), another set will be provided.

. The candidates will write the correct Test Booklet

Series as given in the Test Booklet in the Attendance
Sheet.
Each candidate must show on demand his / her Admit

Card to the Invigilator

. No candidate, without special permission of the

Superintendent or Invigilator, should leave his / her

seat.

. The candidates should not leave the Examination Hall

without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not
to have handed over the Answer Sheet and dealt with
as an unfair means case.

Use of Pencil/Electronic/Manual Calculator is
prohibited.

The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

After Examination is over, candidate has to return
his Answer Sheet to invigilator. Invigilator will hand
over the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy
of answer sheet.

Candidates are not allowed to take Test Booklet with
them They have to submit the Test Booklet to the

invigilator after the exam.

1. UA% U & forv fou ¥ IR fawedi # 9
TE SR & foIv 3. TH. R, SR U9 WX
Had U Tiel Pl & X I8 Bt 91t uige
U9 9 WX | Uh R SR 3ifebd fbu o1 &
q1€ S g8l T8l Sl AdhdT ¢ |

2. WRErdl HREd B o ITR UF DI ARGl A
ST Td 99 TR Pig 3 9= T o |
oieefl AT STk SR UF H AuiRa
R & SffaRa 3= 7 ford |

3. ONiE gRADT Ud SR UF BT eTgad TANT
TR, Rifd fedl A aRRefT # @ae wden

GRATRT H BT BT BIS BY) T IRIET JRAD!

Ud IR UF IuTe] el P SITCATT |

4. e gRA®T H & T wRie gRa®r RIS
B! gRleell Hel e I BIoN—u3 H ford |

5. 08 S R G YRIeTel], deT reietd Pl
39T Waer U 3wy |

6. JredTeTdh AT PHeT ARIeAD DI ALY FART B
oo DI Tiemeft =T Yo 7 B |

7. BRING heT J=INIeTd Bl JUAT IR o U
foem olemedt eroAr e el B | afe
fosdl TRletedt 1 BIvRI-—03 WR &R 8
T 1 I8 HET ST @Y S SR UF T8I
dICrl § 3R I8 AfUd A Bl AHA
HIAT ST |

8. U~Tel / Seldei=id / BXadield IR&eAd BT
SHIRT afdtd 2|

9. TRIET Bfcd H 3RV & fory wtetefi SmanT
@ 3t fmt va fafel gt fafa 2
@ et va fafgdl & AR 8N

10.TRIETT & SURIT NIt SR T=AB el IRIETH
BT el ¢ | Iraeield gIRT 31l ®l IR
THB Bl 3Rl Uit BT HRIS SITTHT e
ST IR B BeT DI BIST DI AN af
STefY | SR U= B 3ngelt ufa anefl a1
3O AT o T @Y SIART B |

1.0 & IWIA weedl B u_iem g
PeT IRl Bl el B | TeT
BT TRlereft U | e o o dohd @ |
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